Mid-term 2 – A

Fall 2006
Economics 11

Please answer all three questions.  All graphs must be completely labeled to receive full credit.  You must show any work you did to arrive at your answer.  Good Luck!
1.
The following represents output at Acme Organic Coffees:

Labor (hours)
Quantity   
AP
   
MP    


  (cans)



       0

     0
     



       1

     8



2 18
3 40
4 56
5 64
6 64
Fill in the table, and identify regions I, II, and III.  Given this limited data, where should the firm produce?
Part II – Suppose the only variable input at Acme is labor, which costs $10/hour.  The output of the firm is priced at $6 per unit.  Use the information above to fill in the table below, and find the firm’s profit-maximizing output.

Labor    Quantity   Fixed     Variable    Total    MC     AVC     ATC    Revenue Profits

(hours)    (cans)     Costs        Cost        Cost      

     0
  0
   100
                        1
  8


2
18


3
40


4
56



5
64


6
64
3.
Recently, the run-up in gasoline prices has renewed interest in using renewable fuels, such as ethanol.  In the U.S., ethanol is made from corn, and this has led to a new, and profitable, market for corn producers.
A.
Illustrate graphically the equilibrium in the market for corn and for an individual producer, if all growers of corn are making economic profits.  Label the profits

B.
Show the long-run adjustment for both the market and the firm.

Part II – Using Part B) above, demonstrate that the firm achieves both economic (technical) and social (allocative) efficiency.

